District School Board of Pasco County Bid Recommendation

Bid Title	Floor Care Products	Number of Vendors Notified	253
Bid Number	14-005-AF	Number of Bids Distributed	58
Date Solicited	October 31, 2013	Number of Vendors Bidding	18
Date Opened	January 8, 2014	Number of Vendors Not Bidding	1
Date Board Presentation	April 15, 2014	Funding Source	General
Total Savings	\$39,363.68	Grand Total of Bid	\$130,428.50 (Estimated)

Recommendation:

Recommend acceptance of bids as noted on the attached bid tabulation sheet as lowest and best, responsive and responsible bids meeting written specifications and testing criteria.

Term of Contract:

This bid is for the purchase of floor care products to be stocked in the central warehouse for use throughout the District. This is a one-year bid effective upon Board approval through January 21, 2015.

Notations and Exceptions:

The bid from Action Time USA, Inc. is disqualified for failure to provide samples upon request as outlined in the bid documents.

The bid from Acuity Specialty Products, Inc. d/b/a Zep Sales & Service is disqualified as their company's bid contained a significant counteroffer in their submittal.

Recommend rejection of the bid from Ecolab, Inc. as they are unable to provide products in the packaging quantity required (i.e. 2.5 gallon packaging vs. 5 gallon packaging) as outlined in the bid documents.

The bid from Coast Brothers is disqualified for failure to sign the mandatory Attachment A – Bidder's Principle Place of Business Form as outlined in the bid documents.

Recommend acceptance of all lower bids as meeting the written specifications and testing criteria as specified in the bid documents with the following exceptions:

Date/Time: April 9, 2014 08:44:00

Notations and Exceptions:

<u>Group 1:</u> Recommend acceptance of bid from Resource One as best bid meeting written specifications. Lower bid from Bayse Janitor Supply Co., Inc. was evaluated and did not pass testing criteria; i.e., stripper did not remove wax from floor at diluted ratio and required multiple uses to remove all wax.

<u>Group 3:</u> Recommend acceptance of bid from Resource One as best bid meeting written specifications. Lower bid from American Chemical & Building Maintenance Supply, Inc. was evaluated and did not pass testing criteria; i.e., cleaner does not remove all marks (markers, hand prints, scuff marks, etc.).

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Savings were determined by averaging all group prices for the bids submitted and deducting the recommended vendor's price.

Bids Evaluated By:

Roger Middleton, Custodial Services Area Specialist, Maintenance Services Scott Moles, Plant Manager, Pine View Elementary School

Bids Prepared By:

Amy Flack, CPPB, Buyer, Purchasing Services

Reviewed and Authorized By:

Nicole Westmoreland, MBA, Purchasing Agent Wishman

			American Chen	nical & Building				
DATE (OF OPENING: January 8, 2014 @ 2:30 PM		Maintenance	e Supply, Inc.	Bayse Janitor S	Supply Co., Inc.	Buckeye Cleanir	ng Center - Tampa
BID TIT	LE: Floor Care Products		1775 5th	n Ave. N.	300 South	Bay Street	2731 Causew	ay Center Dr.
BID #:	14-005-AF		St. Pete,	FL 33713	Eustis, I	FL 32726	Tampa,	FL 33619
	Board Meeting April 15, 2014							
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWAR	D GROUP 1:							•
JS025	Floor Finish (5 Gallon Container)	1170	\$54.95	\$64,291.50	\$42.86	\$50,146.20	\$79.55	\$93,073.50
					Simoniz Ultra Li	ine Show Off Plus		
	Manufacturer/Product #:		NCL - Invi	ncible #0595	#UL	0653	Buckeye Liquim	ax / B. Liqmaxap
JS028	Floor Sealer (5 Gallon Container)	253	\$41.35	\$10,461.55	\$34.63	\$8,761.39	\$71.29	\$18,036.37
	Manufacturer/Product #:		NCL - En	seel #0504	Simoniz Super	Sealer #CS0700	Buckeye 1 st Dov	vn / B. 1st dowap
					•			•
JS030	Floor Finish Remover (5 Gallon Container)	434	\$43.25	\$18,770.50	\$35.82	\$15,545.88	\$63.45	\$27,537.30
	Manufacturer/Product #:		NCL Super	Sonic #1054	Sinmoniz No Odo	or Stripper #N2625	Buckeye Rips	aw / B. Ripsap
Total	Bid Price for Award Group 1 (Items JS025, JS028, & JS030):		\$93,5	523.55	\$74,4	153.47	\$138,	647.17
			•		•		•	

DATE (OF OPENING:January 8, 2014 @ 2:30 PM		Buckeye Cleanin	ng Center - Tampa	Dade Pap	er & Bag Co.	Esteem	Enterprises
BID TI	TLE: Floor Care Products		2731 Causew	ay Center Dr.	2675 Di	rectors Row	11922 N	Iancini Way
BID #:	14-005-AF		Tampa, I	FL 33619	Orlando, FL 33809		New Port R	ichey, FL 34654
	Board Meeting April 15, 2014							
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWAR	D GROUP 1:		Alternate Bid -	Award Group 1				
JS025	Floor Finish (5 Gallon Container)	1170	\$62.67	\$73,323.90	\$49.76	\$58,219.20	\$55.26	\$64,654.20
					Betco Hard As Na	ails Low Maint. Floor	Esteem Enterpr	ises Basix Urethane
	Manufacturer/Product #:		Buckeye Cla	rion/ B.Clarap	F	inish	Acrylic	Floor Finish
JS028	Floor Sealer (5 Gallon Container)	253	\$71.29	\$18,036.37	\$48.04	\$12,154.12	\$39.90	\$10,094.70
							Esteem Enterprise	es Basix Acrylic Floor
	Manufacturer/Product #:		Buckeye 1st Dov	vn / B. 1st dowap	Betco F	loor Sealer	S	ealer
JS030	Floor Finish Remover (5 Gallon Container)	434	\$48.41	\$21,009.94	\$55.50	\$24,087.00	\$38.90	\$16,882.60
			Buckeye S.	W.A.T. NA/		•	Esteem Enterprises	Basix Extreme Power
	Manufacturer/Product #:		B.Sw	anaap	Betco Extren	ne Floor Stripper	9	Strip
Total	Bid Price for Award Group 1 (Items JS025, JS028, & JS030):		\$112,	370.21	\$94	,460.32	\$91	,631.50
							•	

OF OPENING: January 8, 2014 @ 2:30 PM		Gem Su	ipply Co.	Interline Brand	s Inc./AmSan	Mac Pa	pers, Inc.
TLE: Floor Care Products							igh Avenue
14-005-AF			-	Jacksonville	, FL 32207	Tampa,	FL 33610
Board Meeting April 15, 2014							
# DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
RD GROUP 1:							
Floor Finish (5 Gallon Container)	1170	\$58.22	\$68,117.40	\$63.00	\$73,710.00	\$54.00	\$63,180.00
Manufacturer/Product #:		Triple-S 48104-	5PL Dawn Force	Spartan Chemical / Spartan Upper Limits SPA 4090-05		Betco #659 Hard as Nails	
Floor Sealer (5 Gallon Container)	253	\$49.22	\$12,452.66	\$66.00	\$16,698.00	\$52.18	\$13,201.54
Manufacturer/Product #:		Triple-S 48	8146 Starter	Spartan Chemical / Spartan S	Shineline Seal SPA 4004-05	Betco #607 Be	etco Floor Sealer
Floor Finish Remover (5 Gallon Container)	434	\$39.22	\$17,021.48	\$55.00	\$23,870.00	\$60.05	\$26,061.70
Manufacturer/Product #: Total Bid Price for Award Group 1 (Items JS025, JS028, & JS030):		•			•		xtreme Stripper 443.24
	## DESCRIPTION RD GROUP 1: Floor Finish (5 Gallon Container) Manufacturer/Product #: Floor Sealer (5 Gallon Container) Manufacturer/Product #: Floor Finish Remover (5 Gallon Container) Manufacturer/Product #:	TLE: Floor Care Products 14-005-AF ***Board Meeting April 15, 2014*** # DESCRIPTION QTY RD GROUP 1: Floor Finish (5 Gallon Container) 1170 Manufacturer/Product #: Floor Sealer (5 Gallon Container) 253 Manufacturer/Product #: Floor Finish Remover (5 Gallon Container) 434 Manufacturer/Product #:	TLE: Floor Care Products	TLE: Floor Care Products	TLE: Floor Care Products 1312 W. Washington St. 701 San Marco Blvd. 14tl 14-005-AF ***Board Meeting April 15, 2014*** # DESCRIPTION RD GROUP 1: Floor Finish (5 Gallon Container) Manufacturer/Product #: Floor Sealer (5 Gallon Container) Manufacturer/Product #: Floor Finish Remover (5 Gallon Container) Manufacturer/Product #: Floor Finish Remover (5 Gallon Container) Manufacturer/Product #: Triple-S 48146 Starter Spartan Chemical / Spartan Starter Floor Finish Remover (5 Gallon Container) Manufacturer/Product #: Floor Finish Remover (5 Gallon Container) Manufacturer/Product #: Triple-S 48145 Crew Chief Spartan Chemical / Spartan Starter Floor Finish Remover (5 Gallon Container) Triple-S 48145 Crew Chief Spartan Chemical / Spartan Starter Floor Finish Remover (5 Gallon Container) Triple-S 48145 Crew Chief Spartan Chemical / Spartan Starter	Title: Floor Care Products	Title: Floor Care Products

						_		
DATE (OF OPENING:January 8, 2014 @ 2:30 PM		Newline Ind	lustries, LLC	Resour	ce One	Sani-Chem Clo	eaning Supplies
BID TI	ΓLE: Floor Care Products		1030 W. Ame	lia St., Suite D	2202 Indu	strial Blvd.	1950 Ca	lumet St.
BID #:	14-005-AF		Orlando,	FL 32805	Sarasota,	FL 34234	Clearwater	r, FL 33765
	Board Meeting April 15, 2014							
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWAR	GROUP 1:							
JS025	Floor Finish (5 Gallon Container)	1170	\$58.70	\$68,679.00	\$49.90	\$58,383.00	N	B
	Manufacturer/Product #:		Newline All Star	2000 / NL-307-5	Gator Chemical Cla	rity Plus 06000392A		
JS028	Floor Sealer (5 Gallon Container)	253	\$43.81	\$11,083.93	\$43.50	\$11,005.50	N	IB
	Manufacturer/Product #:		Newline New	Seal / NL311-5	Gator Chemical F	irst Coat 06000236		
JS030	Floor Finish Remover (5 Gallon Container)	434	\$44.95	\$19,508.30	\$38.00	\$16,492.00	N	IB
	Manufacturer/Product #:			rip / NL 305-5		nick Strip 07000144		
Total	Bid Price for Award Group 1 (Items JS025, JS028, & JS030):		\$99,2	71.23	\$85,8	80.50	N	IB

DATE (OF OPENING:January 8, 2014 @ 2:30 PM		Short and S	imple Supplies	State Indust	rial Products	Unisource V	Vorldwide Inc
BID TIT	LE: Floor Care Products		14775 N. N	Jebraska Ave.	5915 Lande	rbrook Drive	Bid	Dept
BID#:	14-005-AF		Tampa,	FL 33613	Mayfield Heig	hts, OH 44124	7016 AC S	kinner Pkwy
	Board Meeting April 15, 2014						Jacksonvill	le, Fl 32256
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWAR	D GROUP 1:							
JS025	Floor Finish (5 Gallon Container)	1170	\$58.28	\$68,187.00/*\$68,187.60	N	B	\$101.32	\$118,544.40
	Manufacturer/Product #:		Clean Pak Produc	cts #P525 Rhapsody			Diversey High Noon #510482	
JS028	Floor Sealer (5 Gallon Container)	253	\$48.12	\$12,174.00/*\$12,174.36	N	IB	\$97.54	\$24,677.62
	Manufacturer/Product #:		Clean Pak Produ	acts #P522 Pro Seel			Diversey Iron	Stone #5104837
JS030	Floor Finish Remover (5 Gallon Container)	434	\$44.32	\$19,235.00/*\$19,234.88	N	IB .	\$74.68	\$32,411.12
Total	Manufacturer/Product #: Total Bid Price for Award Group 1 (Items JS025, JS028, & JS030):			06 Strip Magic / Pro Strip /*\$99,596.84	N	(B	Diversey Bravo HD #5115958 \$175,633.14	

			American Chen	nical & Building				
DATE OF C	OPENING:January 8, 2014 @ 2:30 PM		Maintenance	Supply, Inc.	Bayse Janitor	Supply Co., Inc.	Buckeye Cleanir	g Center - Tampa
BID TITLE:	E: Floor Care Products		1775 5th Ave. N. 300 South Bay Street		2731 Causew	ay Center Dr.		
BID #: 14-0	005-AF		St. Pete,	FL 33713	Eustis, I	FL 32726	Tampa, I	FL 33619
	Board Meeting April 15, 2014							
ITEM# DE	ESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWARD G	GROUP 2:							
JS040 Flo	oor Finish Restorer (5 Gallon Container)	413	\$46.25	\$19,101.25	N	B	\$85.20	\$35,187.60
M	Manufacturer/Product #:		NCL Spit Sh	ine #0575-21			Buckeye Floor T	onic / B. Flotonap
	Dilution ratio as restorer:		1:128 1 oz	z per gallon			1:20 or 6 o	z per gallon
	Dilution ratio as cleaner:		1:64 2 oz per gallon				1:20 or 6 o	z per gallon
JS024 Ge	ermicide (5 Gallon Container)	728	\$21.88	\$15,928.64	\$28.40	\$20,675.20	\$97.76	\$71,169.28
M	Manufacturer/Product #:		(4/1 Gallon Contai	ene 256 #0242 ner; Dilution Ratio: oz per gallon)		robial Disinfectant 2635	Buckeye Quat 12	8 / B. Qua 128 ap
T	Total Bid Price for Award Group 2 (Items JS040 & JS024):		Disqualified		Disqualified		\$106,356.88	

DATE C	OF OPENING:January 8, 2014 @ 2:30 PM		Buckeye Cleanin	ig Center - Tampa	Dade Pap	er & Bag Co.	Esteem	Enterprises
BID TIT	LE: Floor Care Products		2731 Causew	ay Center Dr.	2675 Directors Row		11922 N	Iancini Way
BID #:	14-005-AF		Tampa,	FL 33619	Orlando	, FL 33809	New Port R	ichey, FL 34654
	Board Meeting April 15, 2014							
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWARI	D GROUP 2:							
JS040	Floor Finish Restorer (5 Gallon Container)	413			\$60.81	\$25,114.53	\$28.31	\$11,692.03
				•		•	Esteem Enterprises	Basix Citrus Clean N
	Manufacturer/Product #:				Betco One-Step F	loor Cleaner/Restorer	Shine	
				MOP-ON 1 oz / gallon				
	Dilution ratio as restorer:				Auto Scrubb	oer 2 oz / gallon	2 oz per gallor	of water (1 to 64)
					MOP-ON 1 oz / gallon			
	Dilution ratio as cleaner:				Auto Scrubb	per 2 oz / gallon	6 to 8 oz per gallo	n of water (6-8 to 128)
JS024	Germicide (5 Gallon Container)	728			\$29.96	\$21,810.88	\$58.96	\$42,922.92/*42,922.8
	Manufacturer/Product #:				Betco #PH7Q	DIS / DET / DEO	_	Basix Neutral Cleaner
Total Bid Price for Award Group 2 (Items JS040 & JS024):			N	/A	\$46	,925.41	\$54,614.9	5/*54,614.91

DATE O	OF OPENING: January 8, 2014 @ 2:30 PM		Gem Su	pply Co.	Interline Brand	ls Inc./AmSan	Mac Pa	pers, Inc.
BID TIT	LE: Floor Care Products		1312 W. Wa	ashington St.	701 San Marco Blvd. 14tl	h Floor, Attn. Bids Dept.	8610 E. Sl	igh Avenue
BID #: 1	14-005-AF		Orlando,	FL 32805	Jacksonville	e, FL 32207	Tampa,	FL 33610
	Board Meeting April 15, 2014							
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWARI	O GROUP 2:							
JS040	Floor Finish Restorer (5 Gallon Container)	413	\$29.22	\$12,067.86	\$38.38	\$15,850.94	\$65.55	\$27,072.15
	M. C. C. D. L. C.		T : 1 G 40105 A	TDI D 0 D	g		D : /D :	0 0 0
	Manufacturer/Product #:		Triple-S 48105-5	PL Bump & Run	Spartan Chemical / Spartan	Industrial Pat SPA 0087-05	Betco / Betco One Stop 618	
	Dilution ratio as restorer:		4 oz per gallon 1 - 32		3 oz / §	gallon	1 ounce / 1 gallon	
	Dilution ratio as cleaner:		2 oz per gallon 1 - 64		1 oz / §	gallon	2 ounces / 1 gallon	
JS024	Germicide (5 Gallon Container)	728	\$49.22	\$35,832.16	\$89.75	\$65,338.00	\$33.17	\$24,147.76
	Manufacturer/Product #:		Misco 128-05N	AN Hi-Con 128	Spartan Chemical	/ Spartan PO-128	Betco #3	316 PH7Q
	Total Bid Price for Award Group 2 (Items JS040 & JS024):		\$47,9	00.02	\$81,18	88.94	\$51,219.91	

DATE C	OF OPENING:January 8, 2014 @ 2:30 PM		Newline Inc	dustries, LLC	Resour	rce One	Sani-Chem Cl	eaning Supplies
BID TIT	TLE: Floor Care Products		1030 W. Ame	elia St., Suite D	2202 Indu	strial Blvd.	1950 Ca	lumet St.
BID #:	14-005-AF		Orlando,	FL 32805	Sarasota,	FL 34234	Clearwate	r, FL 33765
	Board Meeting April 15, 2014							
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWARI	D GROUP 2:							
JS040	Floor Finish Restorer (5 Gallon Container)	413	N	NB	\$32.00	\$13,216.00	\$32.63	\$13,476.19
	Manufacturer/Product #:				Gator Chemical Scru	ub & Shine 06001952	Spartan Industria	Pathmaker #0087
	Dilution ratio as restorer:				2 oz /	gallon	1 oz pe	er gallon
	Dilution ratio as cleaner:				2 oz /	gallon	0.5 oz p	er gallon
					4.12.00		*===	T
JS024	Germicide (5 Gallon Container)	728	N	IB	\$43.00	\$31,304.00	\$75.74	\$55,138.72
	Manufacturer/Product #:				Gator Chemical D	CS100N 04000162	Spartan Chemica	als PD-128 #1016
	Total Bid Price for Award Group 2 (Items JS040 & JS024):		·	NB	\$44,5	520.00	\$68,614.91	

DATE C	DF OPENING:January 8, 2014 @ 2:30 PM		Short and Si	mple Supplies	State Indus	trial Products	Unisource V	Vorldwide Inc
	LE: Floor Care Products			ebraska Ave.	5915 Lande	erbrook Drive	Bid	Dept
BID#:	14-005-AF		Tampa, FL 33613		Mayfield Heights, OH 44124		7016 AC Skinner Pkwy	
	Board Meeting April 15, 2014						Jacksonvil	le, Fl 32256
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWARI	D GROUP 2:							
JS040	Floor Finish Restorer (5 Gallon Container)	413	\$31.00	\$12,803.00	\$45.00	\$19,530.00/*\$18,585	\$89.71	\$37,050.23
	Manufacturer/Product #:		Clean Pak Produ	cts #P504 Restorit	State Chemical Mighty	Sparkle Restorer-108781	Diversey Ro	evive #04636
	Dilution ratio as restorer:		2 - 4	4:128	1	:32	1:128	
	Dilution ratio as cleaner:		1:	128	1:2		1:128	
JS024	Germicide (5 Gallon Container)	728	\$55.95	\$40,732.00/*\$40,731.60	\$64.00	\$46,592.00	\$58.66	\$42,704.48
	Manufacturer/Product #:		Clean Pak Product	s #H 1122 Surfocide	State Chemica	al NDC-124754	Diversey S	tride #03906
	Total Bid Price for Award Group 2 (Items JS040 & JS024):		\$55,535.00/*\$53,534.60		\$66,122.00/*\$65,177.00		\$79,754.71	

			American Chen	nical & Building				
DATE (OF OPENING: January 8, 2014 @ 2:30 PM		Maintenance	e Supply, Inc.	Bayse Janitor S	Supply Co., Inc.	Buckeye Cleanin	g Center - Tampa
BID TIT	TLE: Floor Care Products		1775 5th Ave. N.		300 South Bay Street		2731 Causeway Center Dr.	
BID #:	ID #: 14-005-AF		St. Pete,	FL 33713	Eustis, I	FL 32726	Tampa, l	FL 33619
	Board Meeting April 15, 2014							
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWAR	D GROUP 3:							
JS026	All Purpose Cleaner (5 Gallon Container)	1	\$26.35	\$26.35	\$28.37	\$28.37	\$44.13	\$44.13
	Manufacturer/Product #:		NCL Blue V	Velvet #0940	Simoniz #Tr	u Blu #T3834	Buckeye Blu	ıe / B. Blueap
	Dilution ratio:		1:128 or 1 o	oz per gallon	Gen 1:50 Med	1:30 HDuty 1:20	1:128 or 1 o	oz per gallon
	Total Bid Price for Award Group 3 (Item JS026):		\$20	6.35	\$28	8.37	\$44	4.13
	*Vendor math error, extension calculated by the DSBPC.							

DATE OF OPENING: January 8, 2014 @ 2:30 PM			Buckeye Cleaning Center - Tampa		Dade Paper & Bag Co.		Esteem Enterprises	
BID TITLE: Floor Care Products			2731 Causeway Center Dr.		2675 Directors Row		11922 Mancini Way	
BID #: 14-005-AF		Tampa, FL 33619		Orlando, FL 33809		New Port Richey, FL 34654		
Board Meeting April 15, 2014								
ITEM # DESCRIPTION (QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWARD GROUP 3:								
JS026	All Purpose Cleaner (5 Gallon Container)	1			\$32.35	\$32.35	\$41.75	\$41.75
					Betco Top Flite High Performance		Essential Industries Blue Concentrate /	
	Manufacturer/Product #:				Detergent		2085FC	
					For Surface 6 oz / gallon			
Dilution ratio:				For Floors 2 oz / gallon		General 1 to 64, Extreme 3 to 64		
Total Bid Price for Award Group 3 (Item JS026):			N/A		\$32.35		\$41.75	
	*Vendor math error, extension calculated by the DSBPC.							

DATE OF OPENING:January 8, 2014 @ 2:30 PM			Gem Supply Co.		Interline Brands Inc./AmSan		Mac Papers, Inc.	
BID TITLE: Floor Care Products			1312 W. Washington St.		701 San Marco Blvd. 14th Floor, Attn. Bids Dept.		8610 E. Sligh Avenue	
BID #: 14-005-AF			Orlando, FL 32805		Jacksonville, FL 32207		Tampa, FL 33610	
Board Meeting April 15, 2014								
ITEM#	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWARD GROUP 3:								
JS026	All Purpose Cleaner (5 Gallon Container)	1	\$32.22	\$32.22	\$34.33	\$34.33	\$35.70	\$35.70
	Manufacturer/Product #:		Triple - S 48165 Propel		Spartan Chemical / Spartan / SPA 0040-05		Betco #150 Top Flight	
	Dilution ratio:		1 oz per gallon 1-28		2 oz / gallon		Surface 6:1 / Floor 2:1	
Total Bid Price for Award Group 3 (Item JS026):			\$32.22		\$34.33		\$35.70	
	*Vendor math error, extension calculated by the DSBPC.							

DATE OF OPENING:January 8, 2014 @ 2:30 PM			Newline Industries, LLC		Resource One		Sani-Chem Cleaning Supplies	
BID TITLE: Floor Care Products			1030 W. Amelia St., Suite D		2202 Industrial Blvd.		1950 Calumet St.	
BID #: 14-005-AF		Orlando, FL 32805		Sarasota, FL 34234		Clearwater, FL 33765		
Board Meeting April 15, 2014								
ITEM # DESCRIPTION QT		QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWARD GROUP 3:								
JS026	All Purpose Cleaner (5 Gallon Container)	1	NB		\$28.00	\$28.00	\$32.23	\$32.23
	Manufacturer/Product #:				Gator Chemical / Gator Green 08000416		Spartan SD-20 #0020	
	Dilution ratio:				2 oz / gallon		2 oz per gallon	
Total Bid Price for Award Group 3 (Item JS026):			NB		\$28.00		\$32.23	
	*Vendor math error, extension calculated by the DSBPC.							

DATE OF OPENING:January 8, 2014 @ 2:30 PM			Short and Sir	nple Supplies	State Industrial Products		Unisource Worldwide Inc	
BID TITLE: Floor Care Products			14775 N. Nebraska Ave.		5915 Landerbrook Drive		Bid Dept	
BID #: 14-005-AF			Tampa, FL 33613		Mayfield Heights, OH 44124		7016 AC Skinner Pkwy	
Board Meeting April 15, 2014						Jacksonville, Fl 32256		
ITEM#	ITEM # DESCRIPTION QTY		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
AWARD GROUP 3:								
JS026	All Purpose Cleaner (5 Gallon Container)	1	\$30.61	\$30.61	\$38.50	\$38.50	\$67.92	\$67.92
	Manufacturer/Product #:		Clean Pak Products P 100 Bio Blue		State Chemical Eco Pro AP Cleaner - 115878		Diversey GP Forward #04516	
	Dilution ratio:		0.5:128		1:32		1:64	
	Total Bid Price for Award Group 3 (Item JS026):		\$31.00 /\$30.61 (Unit Price Prevails)		\$38.50		\$67.92	
	*Vendor math error, extension calculated by the DSBPC.							